
� �

�
� � � � � �

� � � � � �

� � � � � � � � � � � � � � � � � � � � � � � � � � � �

�

�

�

�
�

� �

�
�

�
�

�

�



% �$.5+'*��3516
#8=8<D<�)7A403
(8I4���&8C27

&0AC�$D<14A &8C27 �;DC4B �DCC4A
�80<4C4A

(70=:
�80<4C4A

"4=6C7
>5��DC

%E4A0;;
"4=6C7

�
���
�����

)#�����
)#�
���

��
��

�� �	��� �	�
� �	�
� 
	���
�� �	��� �	�
� �	��� 
	���

����

����

�����


)#����

)#����

)#����


�

�

�


� �	��� �	�
� �	
�� 
	���
� �	��� �	�
� �	
�� 
	���
� �	�
� �	�
� �	��
 
	���

����
�
�
��
�

)#���
�
)#
��
�


�

�

� �	�
� �	�
� �	��
 
	���
� �	��� �	��� �	��� 
	���

����
�
�
���
�
�
��
�

)#���
�
)#��

�
)#���
�


�

�

�

� �	�
� �	�
� �	��
 
	���
� �	
�� �	
�� �	�
� 
	���
� �	
�� �	��
 �	��� �	���

�
��
�
�
���
�

)#
��
�
)#���
�


�

�

� �	��� �	��� �	��� 
	���
� �	��� �	��� �	��� �	���

�
�����
�
�����

)#��
��
)#��
��

��
��

� �	
�� �	
�� �	�
� 
	���
� �	��� �	��� �	��� �	���

�
����
�
����

)#�����
)#�����

��
��

� �	
�� �	��
 �	��� �	���
� �	��� �	��� �	
�� �	���

�
�����
�
����

)#�����
)#�����

��
��

� �	��� �	��
 �	��� �	���
� �	��� �	��� �	
�� �	���

�

��� )#����� �� � �	��� �	��� �	��� �	���

�
����

�
���

�J��


)#��
�

)#����

)#����


�

�

�


� �	��� �	��� �	��� �	���
� �	��� �	��� �	
�� �	���
� �	��� �	��� �	��� �	���

�
���� )#����� �� � �	��� �	��� �	
�� �	���

�
��� )#����� � � �	�
� �	�
� �	��� �	���

�J��
���
�������
���

)#�����
)#�
���

�
�

� �	�
� �	�
� �	��� �	���
� �	��� �	��� �	��
 �	����

��$.+6+����7+16��5+�#75'/-.7��087+�

�

�
���� )#�
��� �� � �	��� �	��� �	
�� �	���



�+'9<��87<�$.5+'*1/006
 40EH��DCH��4><4CAH�5>A�)>D67�#0C4A80;B
�����'��(C44;B���4A>B?024��;;>HB���C2	�

�����
  �)#����
 �
 � �	��� �	��� �	��
 
	���

����
�  �)#���
� 
� � �	��� �	��� �	��
 
	���

�
��
�  �)#
��
� 
� � �	��� �	
�� �	��� 
	���

�
�����  �)#��
�� �� � �	
�� �	��
 �	�
� �	���

�
����  �)#����� �� � �	��� �	��� �	��� �	���

�

���  �)#����� �� � �	��� �	��� �	��� �	���

#8=8<D<�)7A403
(8I4���&8C27

&0AC�$D<14A &8C27 �;DC4B �DCC4A (70=: "4=6C7 %E4A0;;
�80<4C4A �80<4C4A >5��DC "4=6C7

�38(0+��2*�$.5+'*1/006
(7>AC�"4=6C7��*$�)7A403�

�����
 )#����
�� �
 � �	��� �	��� �	��
 
	���

����
� )#���
��� 
� � �	��� �	��� �	��
 
	���

�
��
� )#
��
��� 
� � �	��� �	
�� �	��� 
	���

�
����� )#��
���� �� � �	
�� �	��
 �	�
� �	���

�
���� )#������� �� � �	��� �	��� �	��� �	���

�

��� )#������� �� � �	��� �	��� �	��� �	���

#8=8<D<�)7A403
(8I4���&8C27

&0AC�$D<14A &8C27 �;DC4B �DCC4A (70=: "4=6C7 %E4A0;;
�80<4C4A �80<4C4A >5��DC "4=6C7

�

�
��
�������������	

�
�%+,.��"*$.%������%,"�!�

�	���
 ��	���
�� �
 ���������� �������������������	
� ���������������	

 ��������������

� ������������
����

	���
� ��

�
��� 
� ���������� �������������������	�� ���������������	�� ���������������
� ������������
�
��


�	��	� ���	
	��� 	� ���������� �������������������
�
 ���������������

� ����������������� ������������
�
��

����	� ����
	��� 	� ���������� �������������������
�
 ����������������	
 ����������������� �����������������

	�
�	� ��
��	��� 	� ���������� ��������������������
� �����������������
 ���������������
� ��������������
��

�&*&)/)��%,"�!
�&1"����&. %

��,.��/)�", �&. % ������(/."-��������������/..", ������������%�*'������������"*$.%������������0",�((
���������������������������&�)".",��������&�)".", ���������+#��/.�������������"*$.%



�+75/)�$.5+'*1/006
#��-�	�##
#��-�	�##

)#�����
)#�����

�	��
�	��

�� �	��� �	�
� �	��� 
	���
� �	��� �	�
� �	
�� 
	���

#�	�
#�
#�

)#�����
)#�����
)#�����

�	��
�	��
�	�

� �	�
� �	�
� �	��� 
	���
� �	
�� �	
�� �	�
� 
	���
� �	�
� �	�
� �	��
 
	���

#�
#�


)#�����
)#�
���

�
�

� �	��� �	��� �	��� 
	���
� �	��� �	��� �	��� �	���

#� )#���
� �	
� � �	
�� �	
�� �	�
� 
	���

#��
#��
#��

)#�����
)#�����
)#�����

�	�
�	�
�	�

� �	��� �	��
 �	��
 �	���
� �	��� �	��� �	��� �	���
� �	��� �	��� �	
�� �	���

#8=8<D<�)7A403
(8I4���&8C27

&0AC�$D<14A &8C27
�<<�

�;DC4B �DCC4A (70=: "4=6C7 %E4A0;;
�80<4C4A �80<4C4A >5��DC "4=6C7

#�
 )#�
��� �	�� � �	��� �	��� �	��� �	���

#�� )#��
�� 
 � �	��� �	��� �	
�� �	���

#
� )#
�
�� 
	� � �	��� �	��� �	
�� �	���

#
� )#
���� � � �	�
� �	�
� �	��� �	���

 !$>�> !$��$.5+'*1/006

�
�������
��$&)
�
�����
��$&)
�

����
��$&)
�J�
J�$&)


��

J����J�$&)

)#
�$&)
)#��$&)
)#��$&)
)#��$&)
)#�$&)


�
��
��
��	�
�

� �	
�� �	
�� �	��� 
	���
� �	��� �	��
 �	�
� �	���
� �	��� �	��� �	��� �	���
� �	�
� �	�
� �	�
� �	���
� �	��� �	��� �	��� �	���

�
�������
��$&)�
�
�����
��$&)�
�

����
��$&)�
�J�
J�$&)�


��

J����J�$&)�

)#
�$&)�
)#��$&)�
)#��$&)�
)#��$&)�
)#�$&)�


�
��
��
��	�
�

� �	
�� �	
�� �	��� 
	���
� �	��� �	��
 �	�
� �	���
� �	��� �	��� �	��� �	���
� �	�
� �	�
� �	�
� �	���
� �	��� �	��� �	��� �	���

#8=8<D<�)7A403
(8I4���&8C27

&0AC�$D<14A &8C27 �;DC4B "0A64��=3 (70=: "4=6C7 %E4A0;;
�DCC4A��80<4C4A �80<4C4A >5��DC "4=6C7

�#!$����#!!�$.5+'*1/006

�
������
���(&)
�
�����
���(&)
�

����
���(&)
�J�
J��(&)

)#
��(&)
)#���(&)
)#���(&)
)#���(&)


�
��
��
��

� �	
�� �	
�� �	��� 
	���
� �	��� �	��
 �	��� �	���
� �	��� �	��� �	��� �	���
� �	�
� �	�
� �	��� �	���

�
������
���(&&
�
�����
���(&&
�

����
���(&&
�J�
J��(&&

)#
��(&&
)#���(&&
)#���(&&
)#���(&&


�
��
��
��

� �	
�� �	
�� �	��
 
	���
� �	��� �	��
 �	��� �	���
� �	��� �	��� �	��� �	���
� �	�
� �	�
� �	��� �	���

#8=8<D<�)7A403
(8I4���&8C27

&0AC�$D<14A &8C27 �;DC4B "0A64��=3 (70=: "4=6C7 %E4A0;;
�DCC4A��80<4C4A �80<4C4A >5��DC "4=6C7



� �

�
� � � � � �

� � � � � �

� � � � � � � � � � � � � � � � � � � � � � � � � � � �

�

�

$.5+'*1/006�!53-5'11/2-��+04�#.++7��35�% ��27+52'0�$.5+'*6
,74=�?A>6A0<<8=6�C7A403<8;;B�C74�BC0AC�?>B8C8>=�8=�-�0=3�.�B7>D;3�14�0C�C74�24=C4A�>5�C74�3A8;;43�7>;4	�)74�/�BC0AC
?>B8C8>=�F8;;�14�0C�C74�C>?�>5�C74�?0AC	��;;�C74�?A>6A0<<8=6�8B�3>=4�8=�8=2A4<4=C0;�<>34�B8=24�F4�35>�=>C�:=>F�C74
01B>;DC4�7>;4�?>B8C8>=	��;;�C74�2DCC8=6�F8;;�14�2;8<1�<8;;8=6	

,74=�?A>6A0<<8=6�C74�<0278=4�F8;;�6>�C7A>D67�C74�5>;;>F8=6�B4@D4=24B�
����� �443�/�8=�0C����!&#�C>�C74�5D;;�C7A403�34?C7�?;DB��
��>5�C74�?8C27	
���
� �443-�0=3�.�C>�?>B8C8>=�
���;40A�380	��0=3�02C8E0C4�C74�2DCC4A�2><?	
�
��� �443���,�C7AD����346A44B�0C�C74�?A>6A0<<43�5443A0C4�8=�-��.�0=3�/�C>�A0<?�>DC�C>�C74�<09>A�380	

�)74�/�<>E4�F8;;�14�>DC�>5�C74�?0AC�0=3�4@D0;�C>��
��>5�C74�?8C27����
�����346A44B����
���	
����� �443���,�0A>D=3�C74�4=C8A4�28A2;4�C>�2DC�C74�C7A403B�8=�>=4�A4E>;DC8>=	

�)74�/�<>E4�F8;;�14�>DC�>5�C74�?0AC�0=3�4@D0;�C>�C74�?8C27��4G	����?8C27���	��
�J��	
����� �443�C74���,�C7AD����346A44B�C>�A0<?�>DC�>5�C74�?0AC�C>�2;40A�C74�380<4C4A	

�)74�/�<>E4�F8;;�14�>DC�>5�C74�?0AC�0=3�4@D0;�C>��
��>5�C74�?8C27�	
������#>E4�C74�2DCC4A�102:�C>�C74�24=C4A;8=4�0C����!&#�0=3�34;4C4�C74�2;DCC4A�2><?	
)74�;0BC�<>E4�8B�C>�A0?83�/�>DC�C>�C74�C>?�>5�C74�?0AC�0=3�C74=�6>�102:�C>
01B>;DC4J�<>34	

)78B�8B�0�64=4A82�?A>6A0<�C70C�<0H�=>C�14�BD8C01;4�5>A�0;;�<0278=4B	�&;40B4
<0:4�BDA4�C70C�H>DA�<0278=4�8B�20?01;4�>5�74;820;�8=C4A?>;0C8>=	�)74�E0BC�<09>A8CH
>5��$��<0278=4B�<0=D502CDA43�8=�C74�;0BC�C4=�H40AB�70E4�C74�74;820;�8=C4A?>;0C8>=�20?018;8CH	�#0278=4B�<0=D502CDA43
145>A4�C70C�DBD0;;H�BD??;843�8C�0B�0=�>?C8>=��F7827�20=�14�4=01;43�F8C7�0�?0A0<4C4A	�)74�14BC�F0H�C>�B44�85�H>DA
<0278=4�8B�20?01;4�8B�C>K#�!�C74�?0AC�?A>6A0<�14;>F�8=C>�C74�<0278=4�0=3�B44�85�8C�F8;;�<0:4�C74�<>E4B	

!C�8B�64=4A0;;H�A42><<4=343�C>�2DC�58=4�C7A403B�8=�>=4�?0BB�0=3�2>0AB4�C7A403B�8=�CF>�?0BB4B�8=�B>5C�BC44;B�0=3�=>=�
54AA>DB�<0C4A80;B	�%=�70A34A�BC44;B��H>D�F8;;�=443�CF>�?0BB4B�>=�58=4�C7A403B�0=3�C7A44�?0BB4B�>=�2>0AB4�C7A403B	

�>A�0�270AC�B7>F8=6�=D<14A�>5�?0BB4B�5>A�38554A4=C�<0C4A80;B�4<08;�A82::�C7A403<8;;BDB0	2><

#'140+�!53-5'1��35�������
��;���
��++4�$.5+'*�&/7.�������=��/'��$.5+'*1/00

$��
$��
$��
$
�
$
�
$��
$��
$��
$��

#�(��
�
������
���
���
���
���
������
���
���

-	�

�
-�	�

�
-�
-�	�

�
-	�

�

.	�

�

.	�

�
.�
.�	�

�
.�	�

�

/�	����
��%55B4C���
/	����
/	��
�
/	����

/	����

8�	��
�
8��
8��

9��
9�	���
9�	�

�

���	��
��	��
��	��
��	��
��	��
���	��

�=��-��"�B744C��F7827�20;2D;0C4B�0;;�>5�C74B4�E0;D4B�8B�0E08;01;4�
0C�=>�270A64	�&;40B4�4<08;�'82:�0C�A82::�C7A403<8;;BDB0	2><

5>A�0�2>?H	�&;40B4�?A>E834�DB�F8C7�C74���������������
���������������������
��������������������������������������
��	��



:::�7.5+'*1/0 0686'�)31
#'0+6� �2,3� �(3()�7.5+'*1/0 0686'�)31

$.5+'*��� �� %#�������


������536673:2+��3857 � � ��9'26� ��+35-/'��	�	�

!.32+� � ��	�� � 

��
�
�� � ��';� � ��	�� � 

��
��	

,74=�2DCC8=6�0=3�8=C4A=0;�C7A403��C74�;8=40A�5443A0C4�C>�14�A43D243�C>�2><?4=B0C4�5>A�C74�A0C8>�>5�C74�C>>;LB�2DCC8=6
380<4C4A�C>�C74�<09>A�380<4C4A�148=6�2DC	�!5�H>D�3>�=>C�2><?4=B0C4��C74�5443A0C4�C70C�C74�2DCC8=6�4364�B44B�F8;;�
14�<D27�6A40C4A�0=3�C>>;�508;DA4�F8;;�>22DA	�)74�C7A403<8;;8=6�5443A0C4�8B�4@D0;�C>����<09>A�380	���2DCC4A�380	��
�<09>A
380<4C4A��G�;8=40A�5443A0C4	
�;'140+�
!5�H>D�0A4�DB8=6�0�	
���380	�2DCC4A�C>�3>�0��
�����C7A403�0=3�C74�E0;D4B�8=�C74�5443�0=3�B?443�270AC�01>E4�C4;;�H>D
C70C�H>D�B7>D;3�14�AD==8=6�0C�0�;8=40A�5443A0C4�>5�
��8=274B�?4A�<8=DC4�C74=�

.>DA�039DBC43�5443A0C4�5>A�C7A403<8;;8=6�0=�8=C4A=0;�C7A403�8B�
��#09>A�380	����DCC4A�380	��G�#09>A�380	��G�;8=40A�5443A0C4�>A��	������	
����
�	�����G�
��!&#����	���8=274B�?4A�<8=DC4	

!5�H>D�?A>6A0<�C74�24=C4A�>5�C74�2DCC4A�C>�2DC�0C��	���8=274B�?4A�<8=DC4��C74�%��>5�C74�2DCC4A�F8;;�14�2DCC8=6�0C�0�5443�>5�
��!&#	

$.5+'*��� �� %#��$3306
Speed and Feed Chart For

�%$$�"������$�"��/2�
#0C4A80;
)H?4

(?428582
�A034B

(?443
(�#

�
� �
�� �
� �
�� �
� �

 �
� �
�
� !&"%���&�'�)%%) ��8=�

">F��0A1>=��
"40343�(C44;B��
�'2

�������
�
�
"��

���
���

�	���� �	���� �	��� �	���� �	���� �	��
 �	��
� �	����

#438D<��0A1>=��
�;;>H�(C44;B�
�����'2

���������
��������������

���
���

�	���� �	���� �	��� �	���
 �	���� �	���� �	��
� �	���


#438D<��0A1>=��
�;;>H�(C44;B�������'2

����������������
�������
���


��

��

�	���� �	���� �	���� �	���� �	���
 �	���� �	��
 �	��
�

�;D<8=D<��;;>HB ���������� �
�� �	���� �	���� �	���
 �	���� �	��
� �	��
� �	���� �	���


�A0BB �A44�#0278=8=6 ���� �	���� �	���� �	��� �	���� �	���� �	��

 �	��� �	����

)8C0=8D<��
)8C0=8D<��;;>HB

�><<4A280;;H�&DA4
��"�+

���

��

�	���� �	���� �	���� �	���� �	���
 �	���� �	��
� �	��
�
�	���� �	���� �	���� �	���� �	���� �	���� �	���� �	��



$82:4;��;;>HB !=2>=4;������,0B?0;>H
 0BC4;;>H

#>=4;�����B4A84B
#>=4;�����B4A84B

��
���

��
���

�	���� �	���� �	���� �	���� �	���� �	���
 �	���� �	��


�	���� �	���� �	���� �	���� �	���� �	���
 �	���� �	��


�	���� �	���� �	���� �	���� �	���� �	���� �	��

 �	��
�
�	���� �	���� �	���� �	���� �	���� �	���� �	��
 �	��
�

(C08=;4BB�(C44;B ����B4A84B
����B4A84B

����& ������& 
$8CA>=82��
������������

���
���

��
���

�	���� �	���� �	���� �	���� �	���� �	���� �	��
 �	��
�
�	���� �	���� �	���� �	���� �	���� �	���� �	��
 �	��
�
�	���� �	���� �	���� �	���� �	���� �	���� �	��
 �	��
�
�	���� �	���� �	���� �	���� �	��� �	���� �	���� �	��



�0BC�!A>= �A0H
�D2C8;4
#0;;401;4

���
�
�
���

�	���� �	���� �	���� �	���� �	���� �	��
 �	��
 �	��
�
�	���� �	���� �	��� �	���� �	���� �	��
� �	��
 �	��
�
�	���� �	���� �	���� �	���� �	���� �	��
 �	��
 �	��
�

)>>;�(C44;B  ���� �
���

�


�
�


�

�	���� �	���� �	���� �	���� �	���
 �	���� �	��
 �	��
�
�	���� �	���� �	���� �	���� �	���
 �	���� �	��
 �	��
�

�

�
�

� �

�
�

�
�

�

�


